
OR 203 IHI



50 51 52 53

50 $250 $240 $230 $220

5 1 250 255 245 235

52 250 255 260 250

53 250 255 260 265
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50 51 52

$ 0 $10 $20

5 0 10

10 5 0

15 10 5

53

$30

20

10

0

50

51

52

53

eExp.P

$ 25.00

87.50

100.00

37.50

$250.00

Exp.P

$ 24.00

89.25

102.00

38.25

$ 253:50

$240 x 0.1

255 x 0.35

255 x 0.40

255 x 0.15

T PI

, $230 x

245 x

260 x

260 x
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Exp.P

R 23.00 $220 x

85.75 235 x

104.00 250 x

39.00 265 x

5251.75
- -

Exp. P

0.1

0.35

0.40

0.15

/ 0.1

-

0.35

0.40L0.15

-



+ 
+ 

+ 
+

x 
x 

x
 

x

x 
x

 
x

 
x



ldhHJ&&dtlI  x p =  Eup.  P wmpdaa¶J¶J&&u~~

$ 2 5 0 X0.1 = $ 2 5 . 0 0 . 0

2 5 5 x0.3 ’ = 89.25 0

260 x0.40 = 104.00 0

2 6 5 x0.15 = 39.75 0

$ 258.00

5 0

5 1

5 2

5 3

x p = Exp.  L

x 0 . 1  =$O

x0.35 = 0

x0.40 = 0

x0.15 = 0

$0
-

$258.00

94 0

2. am

1060

1 0 8 0

1100

II20

1140

1 1 6 0

1180

1 2 0 0

1 2 2 0

1060

-__

1 0 8 0

% 63.60 $151.80

‘64.80

1100 II20 1 1 4 0

$ 6 0 . 0 0 $ 58.20 $ 5 6 . 4 0

63.00 61.20 59.40

66.00 64.20 62.40

67.20 65.40

68.40

1 1 6 0 1 1 8 0

$ 5 4 . 6 0

57.60

60.60

63.60

66.60

69.60

$ 52.80

55.80

58.80

61.80

64.80

67.80

70.80

1 2 0 0

$ 5 1 . 0 0

54.00

57.00

60.00

63.00

66.00

69.00

72.00
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1060

1080

1100

1120

1140

1160

1180

1200

1220

0.055

0.100

0.100

0.150

0.200

0.175

0.125

0.075

0.020

1.000

c.d.f.

1.000

0.945

0.845

0.745

0.595

0.395

0.220

0.095

0.020

- p = 0.6

-

M L  =  &.qU-  ‘+ilTinbw~ MP = ~lfll"ulU -&tWg’lA

= $0.19-$.lO = $0.25-$0.19

= $0.09 = $0.06

M L 0.09
’ =  M P + M L  =  0.09+0.06

= 0.6

a~ePal~“,%am”e”sne~~~~,~ll~~*~

1060 $63.60

1080 64.80

1100 66.00

1120 67.20

1140 68.40

1160 69.60

1180 70.80

1200 72.00

1220 73.20

p (Ctt~Dl%d)  = Exp. P.

x 0.055 = $3.50

x 0.100 = 6.48

x 0.100 = 6.60

x 0.150 = 10.08

x 0.200 = 13.68
l

x 0.175 = 12.18

x 0.125 = 8.85

x 0.075 = 5.40

x 0.020 = 1.46- _ _

1.000 $ 68.23
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1060

1080

1100

1120

1140

1160

1180

1200

1220

1060

$O\
1.20

2.40

3.60

4.80

6.00

7.20

8.40

9.60

--

1080
--

$ I.80

'0

1.20

2.40

3.60

4.880

6.00

7.2:O

8.40

1100

$3.60

1.80

'0
.

1.20

2.40

3.60

4.80

6.00

7.20

1120
- -

$5.40

3.60

1.80

'0.

1.20

2.40

3.60

4.80

6.00

% 3.60 x 0.055 = $0.20

1.80 x O.loil = 0.18

0 x0.100= 0

I.20 x 0.150 = 0.18

2.40 x 0.200 = 0.48

3.60 x 0.175 = 0.63

4.80 x 0.125 = 0.60

-6.00 x 0.075 = 0.45

7.20 x 0.02 '= 0.14

$ 2 .86

Exp. P 65.31

$68.23

$7.20 $ 9.00

5.40 7.20

3 60 / 5.40

1.80 3.60

'0 1.80

1.20 ‘0.

$ 10.80 $12.60

9.00 10.80

7.20 9.00

5.40 7.20

3.60 5.40

1.80 3.60

'0

+

1 .x0

1.20 0.

2.40 1.20I
$ 14.40

12.60

10.80

9.00

7.20

5.40

3.60

1.80

'0

$5.40 x 0.055 = $0.30

3.60 x 0.100 = 0.36

LX0 x 0.100 = 0.18

0 x0.150= 0

1.20 x 0.200  = 0.24

2.40 x 0.175 = 0.42

3.60 x 0.125 = 0.45..,

4.80 x 0.075 = 0.36

6.00 x 0.020 = 0.12

$2.43

Enp. P 65.80

$68.23 1
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x p = Exp.  L

ls  7 .20

5 .40

3 .60

I .x0

0

1 .20

2 .40

3 .60

4.80

E\D.  P

x 0.0.55  =  $ 0 . 3 5

x 0.100 = 0.54

x 0.100 = 0.36

x 0.150 = 0.27

x 0.200 = 0

x 0.175 = 0.21

x 0.125 = 0.31

x 0.075 = 0.27

x 0.020 = 0.10

$ 2 . 4 4

6 5 . 7 9

$ 6 8 . 2 3

3. %% a1mlJ1u $3.00

&&~U 2.00

fh'bsdmsdau  (MP) $1.00 diim

dlWlLTltl $0.75 thbm

&~W-dlT@b"llU =  M L

$2.00-0.75 = $1.25

ML 1.25
* = M P + M L  =  1.00+1.25 = 0.556
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20 22 24 26 28 30

20 $20.00 $17.50 $15.00 $12.50 $10.00 $ 7.50

22 - 22.00 19.50 17.00 14.50 12.00

24 - - 24.00 21.00 19.00 16.50

26 - - - 26.00 23.50 21.00

28 - - - - 28.00 25.50

30 - - -- - 30.00

0.05 1.00

0.10 0.95

0.25 0.85

0.20 0.30

0.10

1 .oo

12.5’0

17.00

21.iio

26.00

26.00

26.00

x P = E x p .  P

IX 0.50 = $0.625

x 0.10 = 1.70

x 0.25 = 5.375

x 0.30 = 7.20

x 0.20 = 5.20

x 0.10 2.60

$23.30
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3lAl

VW  (s)

$ 1 . 2 5

1 . 2 5

1 . 2 5

1 . 2 5

1 . 2 5

i,MaMii
u1FJa1tlTl

f 25,000

50,000

75,000

loo.oa3

110,000

ihuadu hp

&ldn’ erwada

&wn &mm

$31,250 $22,500

62,500 45,cQO

93,750 67,500

125,Om ~,~

137,500 99,cKM

% 450,000 $324,CQO

% 8,750 S  16,OW

17,500 16,OCQ

26,250 16,OOtl

35,000 16,OCO

38,500 16,000

$ 126,OOil $80,~

- $7,250

1,500

10,250

19,m

22,500

P. Exp. P

x 0.05 = -362.50

x 0.10 = 150.00

x 0 .20  =  2,050.ca

x 0 .30  =  5,700.OO

x 0 .35  =  7,875.OO

$ 15,412.OO

- = 16 = 0.81 6
’ = 16+4 20
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- 0 . 8 4  =  y

(X-p)* = d* f

(10-26.6)’ =  2 7 6 1

(14-26.6)’ = 159 2

(16-26..6)*  =  1 1 2 2

,(18-26.6)2  =  7 4 3

(20-26.6)’ =  4 4 4

(26-26.6)’ = .36 6

(34-26.6)’ =  5 5 5

(36-26.6)*  =  8 8 3

(38- 26.6)*  = 130 2

(40-26.6)’ =  1 8 0 1

&l-26.6)* =  3 0 3 1

fd’

276

318

224

222

176

275

264

260

180

303

30 2500

=  34+...+34  =  7 9 8

= 30

= EX  _ 798__  - - = 26.6n 30
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(I = &T = Jig = 9.13

M L 18 1 8
’ = MP+ML =

- _ - = 0.818
4+18  22

1Ubih ~lmmu $22

&.bwpu 18 (ML)

M P 4

0 A 26.6 53.2

X-26 .6
-.91 =

9.13

x = -0.91x9.13+26.6

= -8.3i26.6

= 1 8 . 3  ‘WiaKI  ilM?lJ~~‘9oU~~~~~l~U  Z  =  -.91

&&4  a&m  18 AaeJ  t+wbarmnl7biou9u
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A

i

$ 1,700

3,400

6,800

B

i

1.75

1.75

1.75

1.75

1.75

1.75

SiPaawdau

&ml
~~

2,000

4,000

8GQ

2,000

4,000

8.m

$ 1,800

3,600

7,200

$ 1,200

2,400

4,800

$2,300

4,600

9,200

C

$ 120

900

2,280

$3,320

a(-140)

640

2,480

$2,980

0

$ 600

2,300

5,700

$(-700)

1,600

6,200

x 0.2

x 0.4

x 0.4

x 0.2

x 0.4

x 0.4

A I

1.000

0.922

0.722

0.333

0.166

0.055

0.078

0.200

0.389

0.167

0.111

0.055

1.000

hawueGi4
-

14

36

70

30

20

10-

180
-
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~lfllYlu %  16

%qu 12 ML-

MP 4

M L 1 2
’ = ML+MP =

- =  0 . 7 5
12+4

n. mi-m~ 83 i$Jid

(c.d.f.)(MP) = (1 -c.d.f.)(ML) Mri?d  82

(0.333)(4)  = (l-0.333)(12) (0.722)(4)  = (0.278)(12)

$1.33 < 0.667~12 = $8.00 $2.89 < $3.34

d'J"ii  81

(c.d.f.)(MP) (1 -c.d.f.)(ML)

(0.922)(4)  ( 1  - .922)(12) = 0.078 x 1 2

$3.69 > $0.94

-4 a
9. -ani

n. TwnYllUHliaUfJ: 400 ¶J1n

+hpmhc. 300 uin

fill&ilU 10 = 40 yqq
100

6u&nucl 3oo+40  = 340 uin

rhImiontiau 400-340  = 60 uin
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r I

fphn’
5 6

5 0 340

Q 60 0

7 120 60

8 180 120

9 240 180

a&m

7

680

340

0

60

120

8

1,020

680

340

0

60

9

1,360

1,020

680

340

0



0

60

120

180

240

“II.

L

flaludle~l~u

X 0.13

X 0.17

X 0.35

X 0.22

X 0.13

dlwlda"pd  (x)

3

4

5

aaa,iilG

0.65

0.25

0.10

0

10.20

42.00

39.60

31.20

123.00
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1. F 2. F 3. T 4. F 5. T 6. T 7. T 8. T
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1 . 2 2 . *4 3 . ‘ 4 4 . 3 5 . 2 6 . 1 7 . 4 8 . 4 9 . 1
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